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QUESTION 1

You have 20 remote employees flying in to attend a corporate meeting. The morning of travel day, the administrator tells
you that the hotel reservations have changed. What is the best way to send each traveling employee a quick message
with the new hotel information? 

A. Update the meeting agenda with the hotel information. 

B. Post an announcement to the company\\'s Web site with the new hotel information. 

C. Call each stakeholder and leave a message with the address of the hotel. 

D. Send a text message with the hotel information to the mobile phone of each traveler. 

Correct Answer: D 

 

QUESTION 2

ABC Company develops its Own database applications. ABC is considering migrating to cloud services to
accommodate the company\\'s growth. What strategy should ABC use to ensure continuous data protection if it begins
using cloud services? 

A. Cloud-only solution 

B. Regional systems solution 

C. Location systems solution 

D. Multiple cloud-service providers 

Correct Answer: C 

 

QUESTION 3

Wireless networks are subject to more security issues than standard wired networks. Which wireless security protocol
can prevent unauthorized devices from connecting to the wireless network? 

A. WPA2 

B. RSA 

C. AES 

D. DES 

Correct Answer: A 

 

QUESTION 4
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Evonka is listening to music from an online music provider (such as Pandora or Jango). She builds a list of music
preferences, including favorite songs. The music service then suggests additional songs she might enjoy. The music
provider is an example of a cloud-computing application that uses a technology for collaborative filtering, which helps
define the list of songs available to listeners. Which term describes this technology? 

A. Bit-torrent r 

B. Crowdsourcing 

C. Grid computing 

D. Software as a Service 

Correct Answer: B 

 

QUESTION 5

To reduce the costs of maintaining servers with FTP access; your company is using P2P to facilitate sharing of
information. Which strategy should your company use to protect the company\\'s sensitive information while capitalizing
on the benefits of P2P power? 

A. Limit P2P use to sharing music files. 

B. Restrict employees from using their computers in P2P communications. 

C. Use technologies that will control access and password-protect files. 

D. Restrict P2P use to sharing only with universities and research organizations. 

Correct Answer: C 

 

QUESTION 6

Consider the following address: 

http://www.ClWcertified .com/certifications/web_foundations/iba.php 

Which part of the URL represents the server name on which this page resides? 

A. www 

B. .CIWcertified 

C. .CIWcertifed .com 

D. /certifications/ 

Correct Answer: A 

 

QUESTION 7
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Which security issue is most closely associated with wireless networks? 

A. Spoofing 

B. War driving 

C. Eavesdropping 

D. Man-in-the-middle 

Correct Answer: B 

 

QUESTION 8

Acme Corp. is a small manufacturing company. To reduce IT infrastructure costs, it uses cloud- based services
extensively and strives to have the least amount of IT equipment onsite. Last year, Acme suffered a failure that resulted
in significant down time and data loss. Management has decided to implement a continuous data protection (CDP)
solution. Which type of CDP solution best fits Acme\\'s situation? 

A. Cloud-only solution 

B. Local systems solution 

C. Distributed network services provider 

D. Contracted network services provider 

Correct Answer: A 

 

QUESTION 9

You are a small-business owner and would like to encourage employees to bring their own devices (BYOD) to work.
Which of the following can help reduce the security risks associated with a BYOD implementation? 

A. Expense accounts 

B. Acceptable use policy 

C. End user license agreement 

D. In-house device maintenance 

Correct Answer: B 

 

QUESTION 10

You need to center and indent a quote on your Web page. Which is the best way to accomplish this using HTML5? 

A. Use the 

 element. 
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B. Use the 

 element. 

C. Use the style attribute 1%Iith the 

 tag. 

D. Use the text-align attribute with the 

 tag. 

Correct Answer: B 

 

QUESTION 11

Which of the following strategies will help protect your computer against virus attacks? 

A. Perform regular backups of your hard drive. 

B. Open e-mail attachments only from unknown senders. 

C. Update the definitions for your malware protection application frequently. 

D. Configure security settings for your Web browser to the lowest possible level. 

Correct Answer: C 

 

QUESTION 12

Sally is a network technician at Acme Corporation. She has been directed to configure the network adapter for
a company laptop so that it can be used to connect to the company network and the Internet. What is one of
the required TCP/IP settings that she will need to configure? 

A. MAC address 

B. Default gateway 

C. Workstation name 

D. Loopback address 

Correct Answer: B 

 

QUESTION 13

Consider the network configuration shown in the command prompt: What does the Default Gateway identify? 
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A. The file server on the network 

B. The local host on the network 

C. The computer on the network 

D. The router on the network 

Correct Answer: D 

 

QUESTION 14

Which line of code uses the correct syntax to apply an external CSS style sheet to HTML documents? 

A.  

B.  

C.  

D.  

Correct Answer: D 

 

QUESTION 15

Which type of application allows you to edit and validate your source code and preview your Web pages in
multiple browsers? 

A. GUI HTML editor 

B. HTML text editor 

C. Word processor 
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D. Compiler 

Correct Answer: A 
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